ARBETSBLAD 46

Langdenheter (I)

1 2dm= m 21 8m7cm=
2 4dm= m 22 80cm=
3 5dm= m 23 1m6dm=
4 12cm= m 24 1m6cm=
5 17cm= m 25 8dm=

6 7cm= m 26 75cm=
7 6cm= m 27 4ml15cm=
8 25cm= m 28 15dm=
9 9dm= m 29 4m2cm=
10 32cm= m 30 2m4dm=
11 4cm= m 31 25dm=
12 70cm = m 32 2m58cm=
13 99em= m 33 73dm=
14 2m65cm= m 34 6m5dm=
15 Im15em= m 35 455cm =
16 Im5cm= m 36 120cm=
17 3m8dm= m 37 305cm=
18 7m2lcm= m 38 7m2dm=
19 1dm= m 39 4cm=
20 1cm= m 40 4m8cm=

MATEMATIK

.-. leer Lank@n LIBER 47-14697-0 LANKEN 6-7 KOPIERING TILLATEN.



4 N
ARBETSBLAD 46 — FACIT
Langdenheter (1)
102m 21 8,07m
2 04m 22 08m
3 05m 23 1,6m
4 012m 24 1,06 m
5 0,17m 25 0,8m
6 0,07m 26 0,75m
7 0,06 m 27 4,15m
8 025m 28 15m
9 09m 29 4,02m
10 032m 30 24m
11 004m 31 25m
12 07m 32 258m
13 0,99m 33 73m
14 2,65m 34 65m
15 1,15m 35 455m
16 1,05m 36 12m
17 38m 37 3,05m
18 721m 38 72m
19 01m 39 014m
20 0,01m 40 4,08 m
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